

Clairwood Logistics Park  
Basil February Road  
Mobeni East  
4060



Liquor Runner Clairwood Clairwood

[Http://www.lrsa.co.za](http://www.lrsa.co.za)

Selwyn@lrsa.co.za

### IBT INSTRUCTION / DISPATCH NOTE CONSIGNEE - LR GEORGE IBT

<b>DIASA</b>	
<b>TOTAL QUANTITY FOR IBT: 0</b>	<b>PRINCIPAL REFERENCE NUMBER</b>
<b>Number of Chepp: 12</b>	<b>1055411062/DN11/DN17IBT</b>
<b>IBT SPECIAL INSTRUCTIONS</b>	
Transport Company: LR Primary	Driver Name: Simbongile Mlambisa
Expected Delivery Date: 2025-01-27	Truck Reg Nr: JBB898FS
Transport Reference: 64702	Dispatch Date: 2025-01-22
	Dispatch Time: 12:00
Driver Signature: 	LR Signature: 

No. of Seals	Received by Driver	Seal Number
1		0086001 - 0086004
2		
3		
4		
5		
6		
7		
8		
9		
10		
11		
12		

## DELIVERY ADVICE

<b>Sending Plant:</b>	DN11 Durban Warehouse Unit 3A, Clairwood Logistics Park 4092 CLAIRWOOD,
<b>Shipping Point:</b>	LR Clairwood
<b>Warehouse Bond Nos:</b>	

**Receiving Plant:** DN17  
LR George  
1 Abbator RD, George Industria  
6530 GEORGE  
SOUTH AFRICA

**Shipment No:**  
**Delivery No:** 1055411062  
**Order Number:** 5704592705  
**Purchase Order No:**  
**Haulier/Vessel:**  
**Seal No:**  
**Receiving Plant Under Bond:**  Yes  No

**Warehouse Bond Nos:**

**Goods Issue Date:** 22.01.2025

**Customer Delivery Date:** 27.01.2025

**Shipping Instructions:**

Simhangele

22-01-25

Material	ABV%	Quantity	UoM	Batch ID SLED/BBD	Supplying Plant Under Bond
787582 CM Spiced Gold S 75cl 12X01	37.50	225	CAS	L50051F001 06.01.2026	[_] Yes [X] No
794395 Don Julio Rosad 75cl 06X01	40.00	5	CAS	L3199ZR001 31.05.2025	[_] Yes [X] No
789420 Gordons Dry Gin 1L 12X01	43.00	90	CAS	L43381J001 02.12.2029	[_] Yes [X] No
779077 Gordon's SnstOr 75cl 12X01	35.00	10	CAS	L43571J002 22.12.2025	[_] Yes [X] No
787267 Smirnoff 1818 1L 12X01	43.00	71	CAS	L43371H001 28.07.2049	[_] Yes [X] No
787267 Smirnoff 1818 1L 12X01	43.00	139	CAS	L43381H001 28.07.2049	[_] Yes [X] No
787269 Smirnoff 1818 20cl 48X01	43.00	72	CAS	L43481G001 05.08.2049	[_] Yes [X] No
782594 Vat 69 75cl 12X01	43.00	140	CAS	L50111F002 13.01.2030	[_] Yes [X] No
789559 Casamigos Blanc 75cl 06X01	40.00	5	CAS	L4264MR001 26.09.2029	[_] Yes [X] No
787586 CM Spiced Gold S	37.50	20	CAS	L43501H001	[_] Yes [X] No

## DELIVERY ADVICE

<b>Sending Plant:</b>	DN11 Durban Warehouse Unit 3A, Clairwood Logistics Park 4092 CLAIRWOOD,
<b>Shipping Point:</b>	LR Clairwood
<b>Warehouse Bond Nos:</b>	

**Receiving Plant:** DN17  
LR George  
1 Abbator RD, George Industria  
6530 GEORGE  
SOUTH AFRICA

**Shipment No:**

**Delivery No:** 1055411062

**Order Number:** 5704592705

**Warehouse Bond Nos:**

**Purchase Order No:**

**Haulier/Vessel:**

**Goods Issue Date:** 22.01.2025

**Seal No:**

**Customer Delivery Date:** 27.01.2025

**Receiving Plant Under Bond:**  Yes  No

**Shipping Instructions:**

DRIVER: Simbongile  
SIGN:   
DATE: 22-01-25

Material		ABV%	Quantity UoM	Batch ID SLED/BBD	Supplying Plant Under Bond
774766 20cl Smirnoff Inf 75cl	12X01 WtrmM 12X01	30.00	5 CAS	15.12.2025 L50101F003 10.01.2026	[_]Yes [X]No

**Declaration:** We hereby declare the foregoing to be a full and true account of contents of Goods Described

**Signature of sender:** 

**Signature of receiving site:**

**Date:** 22/01/25

**Date:**

DRIVING LICENCE  
 ILAYISENSI YOKUCHUBA  
 CARTA DE CONDUCAO

SADO SOUTH AFRICA  
**ZA**

SH HLAMBELO

ID No: 02/8504056575080 MALE

Birth/Ubuzalwa: 05/04/1985 ZA Restr./Isithintelo: 8

Lic. No./Ilayisensi No. 40020001273V No. 1

Valid/Ipume: 15/11/2024 - 14/11/2029

Issued/Isutshwe: ZA

Code/ikhowudi: EC  
 Veh. restr./Isithintelo sesithuthu: 0  
 First issue/Ubuchuluzwa kokupala: 23/07/2025

Prof. driving permit: G.P.  
 Inume yedagciza bokuphuhl  
 Expiry date: 03/07/2025  
 UKhA ukuphuhluka




**DRIVER RESTRICTIONS**

- 0 None
- 1 Glasses / Contact lenses
- 2 Artificial limb

**PDP CATEGORIES**

- 0 Passengers
- 1 Goods
- 2 Dangerous goods

**VEHICLE RESTRICTIONS**

- 0 None
- 1 Automatic transmission
- 2 Electrically powered
- 3 Physically disabled
- 4 Bus > 16000 kg (GVW) permitted

A		A1		≤ 125 cc
B				GVW ≤ 3500 kg
C1				GVW ≤ 7500 kg
C				GVW ≤ 16000 kg
EB		EC1		
EC		EC		



ID: 8304036375080  
CELL: 0638416413

# LIQUOR RUNNERS

1057-11:28

Durban CAGE 14

## GOODS RECEIPT / ISSUE

No 54051

To be completed on receipt of goods from Producers, Truckdrivers or Warehouse

DRIVER NAME SIMBON GALE

HIRE TRANSPORTATION CO. (If delivered by Hire Vehicle)	
LOAD SHEET No: 53041	VEHICLE REG No: JBB 898

CUSTOMER: IBT GEORGE	DATE RECEIVED: 22/01/2025
----------------------	---------------------------

1055411062 12 pallets UPLIFTNOTE

DESCRIPTION	RECEIVED		Cases Received Damaged	Units Received Damaged	REMARKS INV. NO.
	Cases	Units			
1) VAT 69 12x750ml	140	2P			
2) SMIRNOFF 1818 12x1L	210	3P			
3) SMIRNOFF 1818 48x200ml	72	1P			
4) CPTN MGN SPICE GTO 40		/			
5) 12x750ml	225	3P			
6) GORDONS CPTN 12x700ml	90	2P			
7) GORDONS SUNSET ORANGE	10	/			
8) DON JULIO ROSADO 750ml	5	/			
9) CASAMIGOS BLANCO	5	/			
10) SMIRNOFF WATERMELON		/			
11) MINT 12x750ml	5	/			
12) CPTN MGN SPICE GTO 40		/			
13) 12x200ml	20	/			
14)					
15)					
16)					
17)					
18)					
19)					
20)					
PALET CONTROL: GKN BLUE 12 #1					
OTHER					
<b>TOTAL</b>					

NOTE: ON G.R.V. SHOW ONLY STOCK WHICH HAS PHYSICALLY BEEN RECEIVED

CHECKED ON RECEIPT BY: SPHA	DRIVER: 
TIME COMPLETED: 07:23	PAGE: 01 PAGE: 01

Abbatoir Road  
George Industria  
George  
6530

Abbatoir Road  
George Industria  
George  
6530



044 874 3246  
Jeremy@lrta.co.za

Liquor Runner George

044 874 3241  
Http://www.lrsa.co.za

**GRV for Diageo South Africa - LRSA NR: 4221 (GRV)**

**Receiver:** SN XEGO  
**Checker:** G NGCOBO  
**Warehouse:** Clairwood  
**Sender Ref 1:** 1055411062/DN11/DN17IBT  
**Receive Date:** 2025-01-24  
**WarehouseRecv:** George  
**Sender Ref 2:** 64702

SKU Code	Stock Description	Bin	Batch Number	QTY(Cases)	QTY(Units)
<b>Stock Received</b>					
787582	CM ORIGINAL SPICED 75CL		L50051F001	225	2700
787269	SMIRNOFF 1818 VODKA 200ML		L43481G001	72	3456
782594	VAT 69 (12 X 750ML)		L50111F002	140	1680
787267	SMIRNOFF 1818 (12 X 1L) PET		L43381H001	139	1668
787267	SMIRNOFF 1818 (12 X 1L) PET		L43371H001	71	852
794395	DON JULIO ROSADO (6 X 750ML)		L3199ZR001	5	30
787586	CAPTAIN MORGAN SPICED (12 X 200ML)		L43501H001	20	240
774766	SMIRNOFF INFUSIONS WATERMELON and MINT		L50101F003	5	60
789559	CASAMIGOS BLANC (6 X 750ML)		L4264MR001	5	30
779077	GORDONS SUNSET ORANGE (12 X 750ML)		L43571J002	10	120
789420	GORDONS GIN 12 X 1L		L43381J001	90	1080
				782.00	11,916.00
			<b>Total QTY Received</b>	<b>782.00</b>	<b>11,916.00</b>

Checked By: 

Transport Company: 

**Receiver:** JBB898FS

**Checker:** Simbongile Mlambisa

**Driver Signature:** 

24/01/2025 05:13:38 PM